Roll No:-
Sem-111 Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Civil Engineering) (Theory) [Max. Marks: 70]
Surveying (1615302-P)

- All questions are compulsory. (&t ws1 s1f7am 2 |)
- Marks are mentioned on the right side of each question. (s @t war % 31§ 311 sifera foRa 2])

Group (A) (7w 1)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
(wariferss sl fersrea @t ge fored |) :-

I. Principle of surveying followed to prevent the accumulation of error is -------

(=t 77 1 Toht o ferw weteqor a1 et & & shivran frgrea @y fera St 272)
(a) To work from part to whole (7Rt s & wwot s i 3R ) (c) Both (a) & (b) ((a) wa (b) i)
(b) To work from whole to part (weqef wmr & sifre s i 7R ) (d) None of these (s & =13 =)

i The length of one link of Engineer’s chain is ------ (St st 1 o et ------ IS T BNt 2)
(@) 10 cm (b) 20 cm (c)25cm (d) None of these (374 & %15 &)

iii.  The maximum tolerance in 20m chain is ----- (20m = & watfferes weRficr ------- ?)
(@ £2mm (b) £5 mm () £8mm (d) None of these (374 & =15 &)

\ A well-conditioned triangle should not have angles more than ----(c= gateia Brgst 1 i ---- & e T8 a1 =1y |)
(a) 120° (b) 125° (c) 130° (d) 145°

V. Which of the following is an obstacle to chaining but not to ranging?
(FreTifera & & 1 STeT AT 7 T 7, W 3T STt 78 §7)
(@) Pond (ametm) (b) River (7<) (c) Both (a) & (b) (=i (a) 3 (b)) (d) None of these (375 & =15 &)

vi.  The angle between two plane mirrors of an optical square should be ------
(rerTefter 7T o 3T |wae qUuT o Sfte T 0T ------ BT =M(ET)

(a) 30° (b) 45° (c) 60° (d) 90°
vii.  The quadrantile bearing of a line is 520°W. its whole circle bearing will be -----
(ah r it wrgerter fee 7 5200W 2| et guiee feehar ------- g )
(a) 20° (b) 180° (c) 200° (d) 70°
viii.  In prismatic compass, the zero is marked on the --------- (Rt feehgersh & g1 - R 3ifRd Tedr )
(@) North end (s &) (b) South end (zfaft f&v) (c) East end (=T ) (d) West end (qzmt f&v)
ix.  If the fore bearing of a line is N 25° 30° W, its back bearing is --------
(et e w1 a7 e e N 250 30° W 2, at st wsy e 9 - - 2 |)
(@ N 25030’ E (b) S 259 30’E (©S 25030 W (d) None of these (37 & =€ &)
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X. The whole circle bearing of a line is 190°. Its quadrantile bearing is ----
(ah v it gefarw fe W 1900 2, A gaehn wigeter foeg a4 - & )

(@) N 10°E (b) N 10° W (c)S10°E (d)S10°W
Xi. Temporary adjustment for a dumpy level consists of ------
(et ot ok STeTRlt usH | T g 27)
(a) Setting up the level (b) Levelling up (c) Elimination of parallax  (d) All of the above
(GENEIRIEE)) (GESEEIREERIT)] (GERAESIED)) (3w aft)
xii. ~ The first sight in levelling operation is -------
(Frwraet wfsham & JoTaeR Y ---mmmmn EHISICIES|
(a) Back sight (b) Fore sight (c) Intermediate sight (d) None of these
CEESIED)] (e ) (wemmartieR) (37 5 =g =)
xiii.  The surface tangential to a level surface is called -----
(T weTE T TR AT G AR - FHEA 8 )
(a) Vertical surface (b) Ground surface (c) Horizontal surface (d) None of these
(35w waw ) (1fr =) (&fost wa) (374 & =g )
xiv.  Fore sight is also known as ---------
(sTmarciteR e & & T e ST 272)
(@) Plus sight (b) Minus sight (c) Both (a) & (b) (d) None of these
CRERED)) (B ) (& (a) =i (b)) (574 & 1% 7ef)

xv.  The value of a smallest division on levelling staff is -------
(CREUEE R I N e — T 8)
(@) 5mm (b) 2 mm (c) 10 mm (d) 15 mm

xvi. A fixed reference point whose elevation is known is called ------
(uer wefifa forrr foreg, forreht F=rar 3 &, ----- FHEATIT 2)

(a) Station (b) Bench Mark (c) Change point (d) None of these
(exm) (erfrz) (e forg ) (5 & 7§ 7
xvii. A closed contour lines with higher value inside represent a ------
(a1t i T SAferew AHETEA! S8 TR @, --------- fefia st €)
(@) Hill (wereh) (b) Pond (arermar) (c) Plane land (wwee «f) (d) None of these (375 & =15 &)

xviii. Planimeter is used for measuring --------

(@) Volume (stmram) (b) Area (&=%a) (c) Length (s ) (d) None of these (s & =15 =)

(a) Exact (=) (b) Approximate (srfa) (c) Average (sfwa) (d) None of these (375 & =15 &)
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XX. In rise and fall method, a complete check is provided on ---------
(aregor it =rgra-3ar fafyr & momT =R ekt qof Siter 2t 27)

() Back sight (wemeet==)  (b) Fore sight (smmeie=)  (c) Intermediate sight (weameei=)  (d) All the above (3w @t

Q.2

Q.3

Q.4

Q.5

Q.6

Q7

Group (B) (7w -=f)
Differentiate between plane surveying and geodetic surveying.
(T ST TE -T8 HolaTor # 3= T |)
OR (31eram)
Enumerate principles of surveying.
(weteqor o forgT=ai =1 ford |)

Differentiate between: -
a) Base line and check line  b) Cumulative error and compensating error
(R =L -
H) AR @ T S @ ) wet A w wHh A )
OR (sreram)
Enumerate four types of tapes: describe invar tape.
(I FRR o hiai o T foRd | SR i 1 i Y |)

What is well conditioned triangle? Write its advantage in surveying.
(warfea Bigst . =2 waieqor # swehl Swfirar 1 ford |)

OR (sreram)
Differentiate between Prismatic Compass and surveyor’s compass.
(vt fo e vl s Fo g o o v 7 |

Compare height of instrument method and Rise and Fall method of levelling.
(Srreor st Jrag, farfer we Seor o ua farfer | SAafelT s sl e R |)
OR (steram)
Enumerate different types of levelling staffs. Write relative merits of self-reading and target staffs.
(Farfirr webTe 3 qreregor it 3 AT ford | wertanfud wd @e anfurd it & wmfaes o o)

Write a note on digital planimeter.
(fefsreet wrrivier W ek fewoft ford |)

OR (steram)
Derive an expression for volume by the Prismoidal formula.
(Frset & & AT T A 1 AT I )

Group (C) (g - )

What is reciprocal ranging? Describe with the help of neat sketch the method of doing reciprocal
ranging on an uneven ground.
(oA AT 7T &7 IAS-WTES SIHI W 38 A hl TRy 3T 0 e |)

OR (sreram)

A steel tape 20m long is suspended at its ends and also at the Centre length. Calculate the sag
correction under a pull of 15 kg, if steel weight 7.86 gms/cm? and area of cross-section of the tape
is 0.1 cm?,

(T 20m ver 3aTd o FId Rl 36k TRl O e Hex o & deehen o ® | 15 KQ Réwra & stwia gt g grd o afe

Feqra 1 oed 7.86 gms/em® @ dem i & ey e s deer 0.1 cm? @ |)
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Q.8 What are offsets? How are they taken and recorded? Why is it desirable to take short offsets?

Q.9

(Ta =7 B 82 3 R I TAT I A &7 TE T ST & T BIE @k ford ST =)
OR (31eram)

What are the obstacles in chairing? Describe with neat sketches any two methods of overcoming an

obstacle when vision is free and chairing obstructed.
(SHr AT ¥ R ST STt 87 ¥t Ak Ue S AT S SRR T STem i O e i e gt faferlt o s o o A

o & |)
The following bearings were observed while traversing with a compass: - 6
Line Fore Bearing Back Bearing
AB 450 45° 226° 10°
BC 96° 55° 277° 05
CD 29° 45° 209° 10
DE 324° 48 144° 48°
Mention which stations were affected by local attraction? Determine the corrected bearings.
(v fo g e Arer-tar & 4 fog 7 o - -
keel a1y fog 7 ag foe AW
AB 450 45° 226° 10°
BC 96° 55° 277° 05
CD 29° 45° 209° 10
DE 324° 48 1440 48
for —for Tl W T STreRor on? wiet fask Wi 9 R |
OR (steram)
The following bearings were observed while traversing with a compass. Calculate the interior 6

angles of the closed traverse.

Line Fore Bearing
AB 60° 30°

BC 122° 00

CD 46° 0’

DE 205° 30°

EA 300° 0’

kec)) a1 ok 7
AB 60° 30°
BC 122° 00’
CD 46° 0’
DE 205° 30’
EA 300° 0’

(e Tos g AraT-waen # Ffafad s 7 o T | 975 =3 % SF=id 07 91 )
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Q.10 The following readings were taken on a levelling staff by a level. If the R.L. of the first point is 6
120.000m, then find out the R.L. of the other points. The position of level is changed after the
second, fifth and eight readings. Apply the arithmetic check.
0.675, 1.230, 0.750, 2.565, 2.225, 1.935, 1.835, 3.220, 3.115, 2.875.

(T 1ot saRT deteav ot W feifeRd argaten fore | At wem ferg @i @@ 120.000 . &, @ 9wt forgett
AT A F1 L | et 1 feerfr ga, afed quT ST1ed Tgdi % 18 Sael T3 8] i o St o [)
OR (31eram)

Describe fully the methods of reduction of levels and discuss their merits. 6
(Tt o wreTar ST fafert ST Fequl Ui L qT $9eh TOT AT ferereT 6 |)

Q.11 Describe with the help of sketches, the characteristics of contours. 6
(a1 i TETIET & wHre et Y T  quiT i |)
OR (sreram)
a) Write and explain the factors on which contour interval depends. 6

b) What are the uses of a contour map?
(37) T oaue S Rt T it et 2, 3Rt ot e s |
(&) Hrer== TR 3 ITFRT 1 § ?)
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